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2. 4140 53,000| 53,000 0
6. (&) et A4 /| ALl 60,000| 60,000 0
1. A A 9,040 9,040 0
2. HF 4] 50,960 50,960 0
7. (F)FelEAEA L 5,000 5,000 0
1. dnkpgn) 5,000 5,000 0
8. (F) e mApx 537t 40,000 40,000 0
1. A4 40,000 40,000 0
9. (&)1 & st = HALY 35,000| 35,000 0
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1.4 44 0 4q|(BRA2T)IRARAES : 44,0008-12] 44,000
6.8 Unke-od 333,230| 355,402 -22,172
1.8 w7 35,852 40,209 -4,357
15X 71289 35,852 40,209 -4,357
1. 072 5,484 6,008 -524
1.999 596 1,120 -524 | T ] E7FdH] 1 -524,000+13] = -524,000
2. ARE - Fx0] 1,672 1,672 0
3. AAFTH TR 3,216 3,216 0
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w71 & En] 1 -924,0009%13] = -924,000
:;g%_ﬁ AR TFE A A E] 0 -488, 9409 488,000
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2. 49 F-F711] 900 900 0
2.3 Yy 1,800 1,800 0
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